
Accessory Fitting Instructions
Thank you for choosing this Triumph genuine accessory kit. This accessory kit is the product of Triumph's
use of proven engineering, exhaustive testing, and continuous striving for superior reliability, safety and
performance.

Completely read all of these instructions before commencing the installation of the accessory kit in order to
become thoroughly familiar with the kit’s features and the installation process.

These instructions should be considered a permanent part of your accessory kit, and should remain with it
even if your accessory equipped motorcycle is subsequently sold.

Top Box Kit - Aluminium
Kit Number Models Affected

A9500530
A9500862
A9508203

Tiger XR, Tiger XRA, Tiger XRX, Tiger XC, Tiger XCA, Tiger XCX,

Explorer XR, Explorer XRx, Explorer XRT, Explorer XC, Explorer XCx, 
Explorer XCA,

Tiger 800 XR, Tiger 800 XRX, Tiger 800 XRX LRH, Tiger 800 XCX, 
Tiger 800 XRT, Tiger 800 XCA,
Tiger 1200 XR

A9500606
A9500863
A9508205

Tiger XR, Tiger XRA, Tiger XRX, Tiger XC, Tiger XCA, Tiger XCX,

Explorer XR, Explorer XRx, Explorer XRT, Explorer XC, Explorer XCx, 
Explorer XCA,

Tiger 800 XR, Tiger 800 XRX, Tiger 800 XRX LRH, Tiger 800 XCX, 
Tiger 800 XRT, Tiger 800 XCA,
Tiger 1200 XR

A9500810
A9500864

Tiger 1200 XRX, Tiger 1200 XRX LRH, Tiger 1200 XCX, Tiger 1200 XRT, 
Tiger 1200 XCA

A9500815
A9500865

Tiger 1200 XRX, Tiger 1200 XRX LRH, Tiger 1200 XCX, Tiger 1200 XRT, 
Tiger 1200 XCA

Sliding Carriage Kit
Kit Number Models Affected

A2353434
A9508207

Tiger XR, Tiger XRA, Tiger XRX, Tiger XC, Tiger XCA and Tiger XCX,
Tiger 800 XR, Tiger 800 XRX, Tiger 800 XRX LRH, Tiger 800 XCX, 
Tiger 800 XRT, Tiger 800 XCA

A2353440
A9500701

Explorer XR, Explorer XRx, Explorer XRT, Explorer XC, Explorer XCx, 
Explorer XCA,

Tiger 1200 XR, Tiger 1200 XRX, Tiger 800 XRX LRH, Tiger 1200 XCX, 
Tiger 1200 XRT, Tiger 1200 XCA
1 of 16Publication part number 9900792 issue 9
© Triumph Designs Ltd. 2020

English



Parts Supplied: A9500530, A9500606, A9500810, A9500815

Parts Supplied: A9500862, A9500863, A9500864, A9500865, A9508203, A9508205

1

1. Top box 1 off

1

1. Top box 1 off
2 of 16



Parts Supplied: A2353434, A9508207

1. Sliding carriage assembly 1 off 4. Bolt, M8 x 20 mm 2 off

2. Mounting bracket 1 off 5. Lock nut, M8 2 off

3. Washer, 6.4 x 18 mm 8 off 6. Omega clip 1 off

2

1

3

4

5
6

3 of 16



Parts Supplied: A2353440, A9500701

2

1

3

1. Sliding carriage assembly 1 off 3. Lock nut, M8 4 off

2. Bolt, M8 x 25 mm 4 off
4 of 16



Note:

• Triumph offers a broad range of approved
genuine accessories for your motorcycle. 
We cannot therefore cover all possible
equipment variations in these instructions. For
removal and installation of Triumph Genuine
Accessories always refer to the instructions
supplied with the respective accessory kit. 
To obtain additional copies of any Triumph
accessory instructions, visit 
www.triumphinstructions.com or contact your
authorised Triumph dealer.

Note:

• Lock nuts can be reused, providing resistance
can be felt when the locking portion passes
over the thread of the bolt or stud.

• Always use the correct replacement lock nut as
recommended in the Triumph parts catalogue.

1. Place the motorcycle on a paddock stand. 

2. Remove the rider’s seat as described in the
Service Manual.

3. Disconnect the battery, negative (black) lead
first.

Tiger and Tiger 800 Models Only

4. Remove the four M6 x 20 mm bolts and remove
the rear rack. Retain the bolts for reuse. Retain
the rear rack for reuse if the motorcycle is to
be returned to its original condition.

1. Rear rack
2. Bolt, M6 x 20 mm

Note:

• It is not necessary to remove the rear side
panel bolts from the frame. 

5. Remove the rear side panel side frame lock
nuts. Retain the lock nuts for reuse if the
motorcycle is to be returned to its original
condition.

1. Bolt (left hand shown)
2. Lock nut (right hand shown)

Note:

• The rear seat locking cable is positioned below
the sliding carriage mounting bracket. 

• The mounting bracket must be fitted with the
straight edge facing towards the rear of the
motorcycle.

Warning
Fit only genuine Triumph accessories to those
models approved by Triumph as listed in the
associated Triumph fitting instructions. The
accessory kits covered in this instruction are
designed for use on specific models of Triumph
motorcycle. The accessory kits and the models
applicable are listed at the start of the instruction.
They should never be fitted to any other Triumph
model or to any other manufacturer’s motorcycle.
Fitting an accessory kit to a Triumph model not
listed, or to any other manufacturer’s motorcycle
will affect the performance, stability and handling
of the motorcycle. This may affect the rider’s
ability to control the motorcycle and could result
in an accident causing severe injuries or death.

Warning
A torque wrench of known accurate calibration
must be used when fitting this accessory kit.
Failure to tighten any of the fasteners to the
correct torque specification may affect motorcycle
performance, handling and stability. This may
result in loss of motorcycle control and an
accident.

1
2

2

1

T0920_9

2

5 of 16



6. Position the mounting bracket from the kit to
the sub frame ensuring the straight edge is
facing to the rear of the motorcycle and taking
care to route the seat lock cable in the
orientation shown below.

1. Mounting bracket
2. Threaded bracket
3. Seat lock cable

7. Secure the mounting bracket using the rear
side frame panel bolts. Do not fully tighten the
bolts at this stage.

8. Secure the rear seat locking cable using the
omega clip from the kit to the hole in the
bracket.

1. Mounting bracket
2. Omega clip
3. Seat lock cable

Note:

• A small amount of grease is required to hold
the washers in their correct position during
installation.

9. Collect four washers from the kit. Lightly
grease the lower surface of each washer and
position on the threaded bosses of the grab
handles as shown below.

1. Threaded boss
2. Washer

10. Align the sliding carriage to the grab handle as
shown below. Use four commercially available
4 mm x 100 mm rods to keep the washers in
position while the sliding carriage is being
assembled.

1. Sliding carriage
2. Washer
3. Rod

2

13

Rear

1

2

3

2

1

2
1

2

1

3

2

3

6 of 16



11. Position the four remaining washers from the
kit and the M6 x 20 mm bolts removed
previously through the sliding carriage and
secure to the grab handle bosses as shown
below. Do not fully tighten at this stage.

1. Bolt, M6 x 20 mm
2. Washer
3. Sliding carriage (left hand side shown)

Note:

• Ensure the washers are not dislodged during
fitment of the sliding carriage to the grab
handle boss.

12. Collect the M8 lock nuts and M8 x 20 mm bolts
from the kit and secure the sliding carriage to
the mounting bracket, as shown below. Do not
fully tighten at this stage.

1. Bolt, M8 x 20 mm
2. Sliding carriage

13. Tighten the M6 x 20 mm bolts to 3 Nm, as
shown below.

14. Tighten the M8 x 20 mm nuts and bolts to
20 Nm, as shown below.

1. Bolt, M6 x 20 mm
2. Bolt, M8 x 20 mm

Caution
When fitting the left hand M8 x 20 mm bolt and
nut ensure that the nuts and bolts do not
interfere with the routing of the rear seat release
cable. A trapped or damaged release cable will
render the rear seat lock inoperative.

2

1

3

2

1

2 1
7 of 16



15. Tighten the rear side panel bolts to 20 Nm, as
shown below.

1. Bracket
2. Rear side panel bolt, M8 x 50 mm

Explorer and Tiger 1200 Models Only

16. Remove the four bolts securing the rear rack
cover, discarding the lock nuts. Retain the bolts
for re-use if the motorcycle is to be returned to
its original condition.

1. Fixings
2. Rear rack cover

17. Align the sliding carriage to the rear rack, fit
the four bolts and lock nuts from the kit and
tighten to 20 Nm.

1. Sliding carriage
2. Bolts

All Models

18. Reconnect the battery, positive (red lead) first,
as described in the Service Manual. 

19. Refit the rider’s seat, refer to the Service
Manual.

20. Remove the motorcycle from the paddock
stand and place on the side stand. 

2

1

1

2

Warning
The sliding carriage must be allowed to move from
side to side on the slide plate. If the sliding
carriage is not free to move from side to side
when the top box is fitted, the stability and
handling characteristics of the motorcycle may be
affected, leading to loss of control and an
accident.

Warning
If a load is carried on the sliding carriage without
utilising the top box, it must be securely attached
to the sliding carriage only and not any other part
of the rear rack. The sliding carriage must be
allowed to move from side to side on the slide
plate. If the sliding carriage is not free to move
from side to side on the slide plate, the stability
and handling characteristics of the motorcycle
may be affected, leading to the loss of control and
an accident.

2

1

8 of 16



Lock Barrel Fitment - A9500530, A9500606, 
A9500862, A9500863, A9508203, A9508205

1. Take a lock barrel (supplied with the
motorcycle). Align the tumblers to the slot and
push the barrel into position until it clicks into
place.

1. Slot
2. Tumblers

Note:

• The lock barrel will only fit one way.
2. Check the operation of the lock barrel.

Lock Barrel Fitment - A9500810, A9500815, 
A9500864, A9500865

1. Fit the ignition key in to the lock barrel lock
supplied with the motorcycle when new.

2. Turn the ignition key clockwise to remove the
lock barrel from its protective case.

1. Ignition key
2. Lock barrel
3. Protective case

Note:

• The lock barrel will only fit one way.
3. Align the tumblers to the slot and push the

barrel into position until it clicks into place.

1. Slot
2. Tumblers

4. Check the operation of the barrel.

Caution
Do not remove the ignition key from the lock
barrel when the lock barrel has been removed
from its protective case or latch assembly. 
If the key is removed when the lock barrel has
been removed from the protective case or latch
assembly, the lock barrel will be in an unstable
condition and the internal components will
become unassembled and may be lost which will
prevent fitment of the lock barrel.
The ignition key must only be removed when the
lock barrel has been fitted into the top box.

21

1

3

1

2

21

1

9 of 16



Fitting the Top Box

1. Position the top box such that the mounting
slots on the bottom of the top box locate with
the mounting hooks on the sliding carriage.

1. Mounting slots
2. Mounting hooks

2. Push the top box forwards against the
mounting hooks and lower the top box until the
locking mechanism engages with the rear latch.

Note:

• The top box will lock to the sliding carriage
when the latch on the sliding carriage aligns to
the locking mechanism of the top box.

3. Lock the top box to the sliding carriage by
pushing downwards to fully engage it. An
audible click can be heard when the locking
mechanism on the bottom surface of the top
box is correctly latched to the sliding carriage.
If an audible click cannot be heard the top box
may not be correctly latched to the sliding
carriage. 

1. Latch
2. Locking mechanism

Note:

• It is recommended to have the top box in the
locked condition while riding the motorcycle.

4. Check that the top box is securely locked to the
sliding carriage.

1. Release lever (locked position)
2. Key slot (shown in LOCK position)

2

1

21

Warning
To prevent detachment of the top box while riding,
after fitting always grasp the top box and pull
firmly upwards and to the rear. If the top box is
not correctly secured, it will detach from the
sliding carriage. A loose or detached top box could
cause loss of motorcycle control and an accident.

2

1

10 of 16



Removing the Top Box

5. Insert the key into the lock. Turn the key to the
UNLOCK position and lift the release lever.

6. Lift the rear of the top box to release the
locking mechanism from the rear latch. Slide
the top box rearward to disengage the front
mounting hooks and lift the top box away from
the sliding carriage.

1. Key slot (shown in UNLOCK position)
2. Release lever (open position)

Top Box Operation

1. To unlock and open the top box lid, insert the
key and turn it to the UNLOCK position, then
release the top box lid latch. The lid can then
be opened.

1. Key slot (shown in UNLOCK position)
2. Locking bar
3. Lid latch handle (open position)

2. To lock the lid of the top box, fully close the lid,
lock the lid latch handle in position and turn
the key to the LOCK position. Remove the key.

Top Box - Lock Barrel Replacement

Latch Housing Removal

1. Open the top box lid and locate the six screws
retaining the latch housing to the top box.
Remove the six screws and washers and
remove the latch housing from the top box.
Retain the screws and washers for reuse.

1. Top box
2. Latch housing
3. Fixings
4. Washers

2. Remove the locking cursor from the latch
housing. Retain the locking cursor for reuse.

1. Latch housing
2. Locking cursor

2

1

2

1

3

4

2

13 4

2
1

11 of 16



3. Remove the retaining plate from the latch
housing. Retain the fixings and retaining plate
for reuse.

1. Retaining plate
2. Fixings

4. Ensure the cam is in the unlocked position with
the locking section of the cam in the
orientation shown. 

1. Cam
2. Locking section

5. Lift and remove the cam from the latch
housing ensuring the ball bearing and spring
do not become separated from the latch
housing. Retain the cam for reuse.

1. Latch housing
2. Cam
3. Ball bearing
4. Spring

Note:

• Ensure the key is inserted into the lock barrel
prior to removing the lock barrel from the lock
assembly.

6. Press the retaining lock pin into the lock barrel
and remove the lock barrel from the front of
the latch housing.

1. Latch housing
2. Lock barrel
3. Retaining lock pin

21

2

2

1

2

1

4 3

3

2 1
12 of 16



Latch Housing Fitment
7. Ensuring the ball bearing remains correctly

located in the latch housing, refit the cam in
the locked position with the locking section of
the cam in the orientation shown.

1. Latch housing
2. Cam
3. Locking section

8. Refit the retaining plate on to the latch
housing and secure with the original fixings.
Tighten the fixings to 1 Nm.

1. Latch housing
2. Retaining plate
3. Fixings

9. Refit the locking cursor over the cam onto the
latch housing, left hand shown.

1. Latch housing
2. Locking cursor
3. Cam

10. Refit the latch housing to the top box using the
original fixings and washers. Tighten the
fixings to 1 Nm.

1. Top box
2. Latch housing
3. Fixings
4. Washers

11. Fit the lock barrel referring to the appropriate
Lock Barrel Fitment section on page 9 of this
instruction.

3

2

1

3

1
2

3

2

1
3

4

2

13 4
13 of 16



Sliding Carriage Maintenance

Note:

• If for any reason a rubber pad is damaged or
becomes loose, all of the rubber pads must be
replaced at the same time.

1. Install the rubber pads with the contact
surface facing toward the top box as shown
below.

1. Rubber pads
2. Mounting hole

Replacement Tyres

Note:

• A list of approved tyres specific to these
models is available from your authorised
Triumph dealer, or on the internet at
www.triumph.co.uk.

T

Warning
A top box incorrectly secured with the rubber
pads damaged or missing may detach resulting in
a dangerous riding condition. Before riding, always
ensure that the top box is mounted correctly.
Ensure the rubber pads are secure and not
damaged in any way.

2

1

Warning
Use the recommended tyres ONLY in the
combinations given. Do not mix tyres from
different manufacturers or mix different
specification tyres from the same manufacturers
as this may result in loss of motorcycle control
and an accident.

Warning
An incorrectly mounted top box may detach whilst
riding, resulting in a dangerous riding condition.

Before riding, always ensure that the top box is
mounted correctly. Ensure that the lock barrel is
turned to the LOCK position and the key removed.

1. Top box
2. Lock position

A top box that detaches whilst riding may cause
loss of motorcycle control and an accident and/or
injury to other road users.

T2102

2

1

14 of 16



T Cleaning the Luggage System

All parts of the luggage system fitted to your
motorcycle must be cleaned regularly to avoid
deterioration of their appearance. 

Washing
Prepare a mixture of cold water and mild
automotive cleaner. Do not use a highly alkaline
soap as commonly found at commercial car washes
because it leaves a residue.

Wash the luggage system with a soft cloth. Do not
use an abrasive scouring pad or steel wool. They will
damage the finish.

Rinse the luggage system thoroughly.

Ensure no soap or water enters the inside
compartment.

Dry the luggage system as far as possible with a
soft cloth. 

Protecting
When the luggage system is dry, protect with a
colourless lubricating spray.

It is recommended that regular protection be
applied to the system as this will both protect and
enhance the system's appearance.

Note:

• It is recommended to use the Triumph inner
bags to protect both the luggage contents and
the inner surfaces of the luggage.

Warning
The maximum safe load for the top box is 5 kg
(11 lbs). Never exceed this loading limit as this may
cause the motorcycle to become unstable leading
to loss of motorcycle control and an accident.

Warning
After fitting or removing the top box, operate the
motorcycle in a safe area free from traffic to gain
familiarity with the new handling characteristics.
Operation when not familiar with the new
characteristics of the motorcycle may result in
loss of motorcycle control and an accident.

Warning
Incorrect loading may result in an unsafe riding
condition leading to loss of motorcycle control and
an accident.

Always ensure any loads carried are evenly
distributed on the motorcycle. Ensure that the
load is correctly secured such that it will not move
around while the motorcycle is in motion.

Evenly distribute the load within the top box. Pack
heavy items at the bottom of the top box.

Always check the load security regularly (though
not while the motorcycle is in motion) and ensure
that the load does not extend beyond the rear of
the motorcycle. Never exceed the maximum
vehicle loading weight. Refer to the Owner’s
Handbook for the maximum loading weight
specification.

This maximum loading weight is made up from the
combined weight of the rider, passenger, any
accessories fitted and any load carried.

For models that have adjustable suspension
settings, ensure that front and rear spring
preload and damping settings are suitable for the
loading condition of the motorcycle. Refer to the
Owner’s Handbook.

Note the maximum permissible payload for the top
box is stated on a label inside the top box.

Caution
The use of abrasive cleaners and polishes will
damage the system and must not be used.
15 of 16



Warning
If, after fitment of this accessory kit, you have any
doubt about the performance of any aspect of the
motorcycle, contact an authorised Triumph dealer
and do not ride the motorcycle until the
authorised dealer has declared it fit for use. Riding
a motorcycle when there is any doubt as to any
aspect of the performance of the motorcycle may
result in loss of control of the motorcycle leading
to an accident.

Warning
This motorcycle must not be operated above the
legal road speed limit except in authorised
closed-course conditions.

Warning
Only operate this Triumph motorcycle at high
speed in closed-course, on-road competition or on
closed-course racetracks. High-speed operation
should only be attempted by riders who have been
instructed in the techniques necessary for
high-speed riding and are familiar with the
motorcycle's characteristics in all conditions.

High-speed operation in any other circumstances
is dangerous and will lead to loss of motorcycle
control and an accident.

Warning
Never ride an accessory-equipped motorcycle, or a
motorcycle carrying a payload of any kind, at
speeds above 80 mph (130 km/h). In either/both of
these conditions, speeds in excess of 80 mph
(130 km/h) should not be attempted even where
the legal speed limit permits this.

The presence of accessories and/or payload will
cause changes in the stability and handling of the
motorcycle. 

Failure to allow for changes in motorcycle stability
may lead to loss of motorcycle control or an
accident.

When riding at high speed, always be aware that
various motorcycle configuration and
environmental factors can adversely affect the
stability of your motorcycle. For example:

• Incorrectly balanced loads on both sides of
the motorcycle.

• Incorrectly adjusted front and rear
suspension settings.

• Incorrectly adjusted tyre pressures.

• Excessively or unevenly worn tyres.

• Side winds and turbulence from other
vehicles.

• Loose clothing.

Remember that the 80 mph (130 km/h) absolute
limit will reduce by the fitting of non-approved
accessories, incorrect loading, worn tyres, overall
motorcycle condition and poor road or weather
conditions.

Warning
Never ride an accessory equipped motorcycle at
speeds above 80 mph (130 km/h).

The presence of accessories will cause changes in
the stability and handling of the motorcycle.
Failure to allow for changes in motorcycle stability
may lead to loss of control or an accident.

Remember that the 80 mph (130 km/h) limit will be
reduced by the fitting of non-approved
accessories, incorrect loading, worn tyres, overall
motorcycle condition and poor road or weather
conditions.
16 of 16


